



































































































































LEE fixing theB system

Mixing aus
BE 45
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Most general form of 2 2 mixing matrix
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Physical observables
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Af Lf Leff Bs Matrix element for decaymight be super complicated

Af Lf Leff Bs
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How to measure on

How to calculate on
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Iz But France t Xu Tcf fue Tux Fruit

Aaa Frau If fee that Flat
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Average lattice sum vales 1909 11087
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o heB system
I 3 different kinds of
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consider o flavour specific decay e.g
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Indirect Cf or Cf in interference at mixingfdeay
History I was discovered in the k system in 196

as a tiny effect of tea

1973 Kobayashi Maskawa in Ver
1977 discovery of B quark

Expect CD of the order of 50 in B decay
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all complicated

were pert objects havecanceled a

s off sin 2B uniteritytriangle
naI

É 5040
pigshuge I

Nobel prize for
Kobayashi Maskawa

But I 2nd decay amplitude T
Ba ga

Ks

É ra es f s Af a e ie e
it

IEEE1 8314
Penguin
a f II

a e ite int beiere in
a e ite ite bein e it

e ft
s acp sin 2B f I I

penguin pollution
estimated to be tie

T since 2023 experimental
precision in B smaller than

10 penguins are new crucial






































































































































Ed

af 13,11 197
to also for charged B mesons
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Remarks
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